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E–881 

M. A. (Fourth Semester) (Main/ATKT) 

EXAMINATION, May-June, 2021 

ECONOMICS 

Paper First 

(Economics of Development and Planning) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- Hkkjr ds vkfFkZd fodkl ds fy, buesa ls D;k vko’;d gS \ 

¼v½ tula[;k fu;a=.k 
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¼c½ rduhdh izxfr 

¼l½ iw¡th fuekZ.k 

¼n½ mi;qZDr lHkh 

Which of the following are important for economic 

development of India ? 

(a) Population control 

(b) Technical progress 

(c) Capital formation 

(d) All of the above 

2- vlarqfyr of̀) dk fl)kUr fdlus izfrikfnr fd;k \ 

¼v½ Mksej 

¼c½ lsu 

¼l½ g”kZeSu 

¼n½ ysfol 

Who propounded the theory of unbalanced growth ? 

(a) Domar 

(b) Sen 

(c) Hirschman 

(d) Lewis 

3- Hkkjr dh jk”Vªh; vk; esa fdl {ks= dk ;ksxnku lokZf/kd gS \ 

¼v½ izkFkfed 

¼c½ f}rh;d 

¼l½ lsok 

¼n½ mi;qZDr lHkh 
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Which of the following sectors of India contributed highest 

of the national income ? 

(a) Primary 

(b) Secondary 

(c) Service 

(d) All of the above 

4- vn’̀; csjkstxkjh ds lanHkZ esa dkSu&lh ‘krZ lgh gS \ 

¼v½ cpr vkf/kD; gksrh gSA 

¼c½ Jfedksa dh lhekar mRikndrk ‘kwU; gksrh gSA 

¼l½ Jfedksa dh lhekar mRikndrk de gksrh gSA 

¼n½ Jfedksa dh lhekar mRikndrk vf/kd gksrh gSA 

Which of the following is true about disguised 

unemployment ? 

(a) It represents surplus savings.  

(b) The marginal productivity of labours is zero.  

(c) The marginal productivity of labours is less. 

(d) The marginal productivity of labours is more. 

5- loZgkjk oxZ dh /kkj.kk fdlus nh \ 

¼v½ ekDlZ 

¼c½ ysfol 

¼l½ ‘kqEihVj 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Who has given the concept of proletariat ? 

(a) Marx 

(b) Lewis 

(c) Schumpeter 

(d) None of the above 

6- vuojr ;kstuk dh le;kof/k D;k gS \ 

¼v½ 1971&73 

¼c½ 1980&82 

¼l½ 1978&80 

¼n½ 1997&99 

What is the period of rolling plan ? 

(a) 1971-73 

(b) 1980-82 

(c) 1978-80 

(d) 1997-99 

7- usYlu ds fodkl fl)kUr dk izfriknu gqvk % 

¼v½ 1950 esa 

¼c½ 1952 esa 

¼l½ 1954 esa 

¼n½ 1956 esa 



 [ 5 ] E–881 

 P. T. O. 

Nelson’s development theory is given in : 

(a) 1950 

(b) 1952 

(c) 1954 

(d) 1956 

8- izcy iz;kl fl)kUr fdldh nsu gS \ 

¼v½ fyÇcLVhu 

¼c½ vkFkZj ysfol 

¼l½ jkstsUVhu jksMku 

¼n½ mi;qZDr esa ls dksbZ ugha 

Who has given the theory of Big Push ? 

(a) Libenstein 

(b) Arthur Levis 

(c) Rosenstein Rodan 

(d) None of the above 

9- izlj.k izHkko fdldh nsu gS \ 

¼v½ dhUl 

¼c½ fychULVhu 

¼l½ ek’kZy 

¼n½ feMZy 
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Who introduced spread effect ? 

(a) Keynes 

(b) Lebenstein 

(c) Marshall 

(d) Myrdal 

10- nksgjh vFkZO;oLFkk dk ekWMy fdldh nsu gS \ 

¼v½ QkbZ&jsful 

¼c½ vkFkZj ysfol 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ mi;qZDRk esa ls dksbZ ugha 

Who has given the model of dual economy ? 

(a) Fai-Ranis 

(b) Arthur Lewis 

(c) Both (a) and (b) 

(d) None of the above 

11- Hkkjr esa ubZ vkfFkZd lq/kkj uhfr ykxw gqbZ Fkh % 

¼v½ lkroha ;kstuk esa 

¼c½ NBha ;kstuk esa 

¼l½ okf”kZd ;kstuk esa 

¼n½ vkBoha ;kstuk esa 
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India’s new economic reforms policy was implemented  

in : 

(a) Seventh plan 

(b) Sixth plan 

(c) Annual plan  

(d) Eighth plan 

12- vfrjsd ewY; fl)kUr fdlus crk;k \ 

¼v½ ekDlZ 

¼c½ ysfol 

¼l½ ‘kqEihVj 

¼n½ jksMku 

Who has given the theory of surplus values ? 

(a) Marx 

(b) Lewis 

(c) Shumpeter 

(d) Rodan 

13- ekDlZ dh fodkl voLFkkvksa esa fdruh voLFkk,¡ gSa \ 

¼v½ pkj 

¼c½ ik¡p 

¼l½ N% 

¼n½ lkr 



 [ 8 ] E–881 

How many stages are there in marks growth stages ? 

(a) Four 

(b) Five 

(c) Six 

(d) Seven 

14- jksLVkso ds fodkl fl)kUr esa mRd”kZ dh viL”V ds ckn dkSu&lh 

voLFkk vkrh gS \ 

¼v½ ifjiDork dh vksj vxzlj 

¼c½ mRd”kZ ls iwoZ voLFkk 

¼l½ vR;f/kd mi;ksx dk ;qx 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which stage is come after the take off stage in Rostow’s 

development model ? 

(a) Drive to muturity 

(b) Pre condition for take-off 

(c) The age of high mass consumptive 

(d) None of the above 

15- ekDlZ dh iw¡th dh vkafxd lajpuk dk lw= gS % 

¼v½   
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¼c½   

¼l½   

¼n½ 


  

Formula of Marx organic composition of capital is : 

(a) 
Constant capital

Variable capital
  

(b) 
Variable capital

Constant capital
  

(c) 
Constant capital + Variable capital

Total capital
  

(d) 
Constant capital  Variable capital

Total capital


  

16- feMZy us dkSu&lk ekWMy crk;k gS \ 

¼v½ vkfFkZd fodkl ekWMy 

¼c½ pØh; dk;Zdkjh ekWMy 

¼l½ nksgjh vFkZO;oLFkk ekWMy 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Which model is given by Myrdal ? 

(a) Model of Economic Development 

(b) Model of Circular Causation 

(c) Model of Dual Economy 

(d) None of the above 

17- dkSu&lk fl)kUr v)Zfodflr ns’kksa esa ck/kkvksa dks nwj djds cM+s iSekus 

ij iw¡th fuos’k djus dh vko’;drk dh lykg nsrk gS \ 

¼v½ cM+s /kDds dk fl)kUr 

¼c½ larqfyr of̀) dk fl)kUr 

¼l½ vlarqfyr of̀) dk fl)kUr 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which theory emphasises that underdeveloped countries 

require large amount of investment to break backwardness ?   

(a) Big push theory 

(b) Theory of balanced growth 

(c) Theory of unbalanced growth 

(d) None of the above 

18- vkfFkZd fodkl dh j.kuhfr D;k gS \ 

¼v½ larqfyr fodkl i)fr 

¼c½ vlarqfyr fodkl i)fr 

¼l½ larqfyr ,oa vlarqfyr fodkl i)fr 

¼n½ mi;qZDr esa ls dksbZ ugha 
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What is Strategy of economic development ? 

(a) Balanced growth system 

(b) Unbalanced growth system 

(c) Balanced and unbalanced growth system 

(d) None of the above 

19- leku lhekar mRikndrk dk fl)kUr fdlus fn;k gS \ 

¼v½ psujh 

¼c½ iksykd o cqdkuu 

¼l½ xysUlu 

¼n½ yhfcULVhu 

Who introduced criteria of equal marginal productivity 

theorem ?   

(a) Chenary 

(b) Pollock and Bukanun 

(c) Galensen 

(d) Lebeenstein 

20- dkyZ ekDlZ ds fodkl fl)kUr dks lehdj.k esa fdlus crk;k \ 

¼v½ jsful 

¼c½ jksMku 

¼l½ fgfxUl 

¼n½ usYlu 
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Who has given the equation for development model of Karl 

Mark ? 

(a) Renis 

(b) Rodan 

(c) Higgins 

(d) Nelson 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- vkfFkZd fu;kstu D;k gS \ 

What is Economic Planning ? 

2- fu/kZurk ds nq’pØ dks crkb,A 

Explain vicious circle of poverty. 

3- ekDlZ dh ‘kks”k.k dh nj D;k gS \ 

What is Marx’s exploitation rate ? 

4- larqfyr of̀) D;k gS \ 

What is Balanced Growth ? 

5- fofHkUu vkfFkZd fu;kstu dh vkfFkZd o`f) nj crkb,A 

Write the economic growth rate of different economic 

planning. 
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6- vkfFkZd fodkl esa fuos’k dlkSfV;k¡ D;k gSa \ 

What is investment criteria in Economic Development ? 

7- uhfr vk;ksx D;k gS \ 

What is NITI Aayog ? 

8- vkfFkZd fu;kstu dh e/;kof/k leh{kk D;k gS \ 

What is midterm analysis of rconomic planning ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words. 

1- Hkkjrh; fu;kstu dh j.kuhfr crkb,A 

Explain the strategy of Indian Plan. 

2- cká cprsa D;k gSa \ 

What is external savings ? 

3- vlarqfyr fodkl D;k gS \ 

What is unbalanced growth ?  

4- cM+s /kDds dk fl)kUr D;k gS] crkb,A 

Explain, what is Big push theory. 
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5- ;kstuk vodk’k fdls dgrs gSa \ 

What is plan holiday ? 

6- uoizorZu D;k gS \ 

What is Innovation ? 

7- Økafrd U;wure iz;kl fl)kUr D;k gS \ 

What is critical minimum efforts ? 

8- vn’̀; csjkstxkjh esa cpr laHkkO; dks le>kb,A 

Explain saving potential under disguised unemployment.  

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 150 ‘kCnksa esa nhft,A 

 Attempt all questions in 150 words. 

1- vkfFkZd fu;kstu dh lQyrk ,oa vlQYkrk dks crkb,A 

Explain success and failure of economic planning. 

vFkok 

(Or) 

ekDlZ ds fodkl fl)kUr dks crkb,A 

Explain Marx’s development theorem. 
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2- jsful ,oa QkbZ ds fodkl fl)kUr dks crkb,A 

Explain Ranis –Fai’s development theorem. 

vFkok 

(Or) 

vkFkZj ysfol ds fodkl fl)kUr dks le>kb,A 

Explain Arthur Lewis’ development theorem. 

3- larqfyr ,oa vlarqfyr fodkl fl)kUr dks le>kb,A 

Explain balanced and unbalanced growth theorem. 

vFkok 

(Or) 

feMZy ds pØh; izokg fl)kUr ij izdk’k Mkfy,A 

Throw light on Myrdal’s theory of circular flow. 

4- fuos’k ds fofHkUu ekin.M fl)kUr dh O;k[;k dhft,A 

Explain different investment criterion theory. 

vFkok 

(Or) 

jksLVkso dh fodkl voLFkkvksa ij izdk’k Mkfy,A 

Throw light on Rostow’s development stages. 
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